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Ill Semester B.Com. Degree Examination, March/April2023
(NEP) (2022-23 and Onwards) (Freshers)

COMMERCE

Paper - 3.1 : Corporate Accounting

Time : 2Vz Hours Max. Marks : 60

lnstruction : Answer should be written in English or Kannada only.

SECTION - A

1. Answer any six sub-questions. Each sub-question carries 2 marks. (6x2=121

a) State any two'types of share capital.

b) What is partial undenruriting ?

c) Give the meaning of intangible assets.

d) Mention any four factors influencing goodwill.

e) State any two features of Brand.

f) Mention any two circumstances under which shares are valued.

g) How do you ascertain the value of Warrants ?

h) How do you treat advance tax paid in financial statement of companies ?

SECTION _ B
\,

Answer any three questions. Each question carries 4 marks. (3x4=12)

2. Sky Ltd. made an issue of 1,00,000 equity shares of Rs. 10 each. Payable

Rs. 5 on application and Rs. 5 on allotment. All the shares are subscribed and

amounts duly received. Pass journal entries to give effect to these.
,tj

3. A company issued 1 ,00,000 shares valued at 100 per share. The shares were

underwritten as follows : X : 30,000 shares, Y : 50,000 shares. The public

applied for 70,000 shares. Det€rmine the liability of X, Y, and the company.

4. The net profits of a company for the past 5 years are 2017-18 Rs. 80,000,

2018-19 Rs. 9O,OOO, 2019-20 Rs. 94;000,2020-21 Rs. 80,000 and 2021-22

Rs. 96,000. The Capital employed in the business is Rs. 8,00,000 on which a

reasonable rate of return of 10/" is expected. Calculate the value of goodwill

of the company under the capitalization of average profits method.

P.T.O.
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5. The following is the Balance Sheet of MARIA Trading Co. Ltd. as on 31-03-2022:

-2-

Liabilities

1000, 60/" Preterence

shares of Rs. 10 each

4000 Equity shares

Rs. Assets

10,000 Buildings

Machinery

Patents

Rs.

27,500

32,500

5,000

20,000

30,000

of Rs. 10 each 40,000 Sundry debtors

Reserve Fund 25,000 Other current assets
Profit and Loss account 8,000

Sundry creditors 32,000

1,15,000 1 ,15,000
1) ]he value of machinery was under depreciated by Rs. 2,500 and value of

Building 
!p. R". 65,000 and Goodwill is Rs. '10,000:

2) Rs. 3,000 worth of debts are bad.

3) The preference shares have priority for capital payment.

Calculate the intrinsic,yalue of both types of shares.

6. Under what no-tes (Heading) do you show the following items in the financial
statements of Companies.

a) Provision for taxation

b) Live stock

c) Work-in-progress

d) Bills payable

e) Debentures.

SECTION _ C

Answer any three questions. Each question carries 12 marks. (3x12=36)

7.

8.

The Bharath Trading Company Ltd. with a registered capital of Rs 2,OO,OO0
issued 1O,OO0ueguity shares of Rs. 10 each. Payable n's. g on Appiication,
Rs.2 on allotment, Rs. 3 on first call and Rs. 2 on flnal call. AII the shares were
subscribed and the money duly received except the first call on 1,000 shares
and final call on 2,000 shares. Give the Journal entries

Nikhil Ltd. invited applications from the public for 2,50,000 shares of Rs. 10 each.
Entire issue was underwritten by underwriters. A, B, C and D to the extent of
30"/",25"/o,25o/o,20% with the provision of firm underwriting of B,O0O shares,
12,000 shares, Nil shares and 30,000 shares respectivety.-tfre underwriting
contract provides that underwriters be given credit for firm applications. Th6
gompany received applications for 1,80,000 shares excluding firm underwriting,
including marked applications out of which marked applications were as undeT:
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A - 48,000 shares

B - 40,000 shares

C - 24,000 shares

D - 48,000 shares

Prepare a statement showing the net liability of underwriter.

9. Following is the Balance Sheet of Shakthi Ltd. as on g1-g-2}22.

Liabilities Amt. Assets Amt.

(Rs.) (Rs.)

Share capital

Heserves and surplus

Creditors

15,00,000 Fixed assets

3,75,000 Current assets

6,25,000 lnvestments

25,00,000

Liabilities

40,000 shares of

Rs.10 each

Resenre fund $1

Surplus

5% Debentures

Creditors

Provision for tax

7,25,000

On 31 -12-2022 fixed assets were valued at Rs. 6,00,000 and goodwill at
Rs. 37,500. The net profits for the last three years were Rs. 37,500,
Rs. 39,000 and Rs. 43,500 of which 20% was placed to reserve. The rate of

return is 10%.

10,00,000

12,50,000

2,50,000

25,00,000

Amount

(Rs.)

25,000

5,00,000

2,00,000

The investments are 8o/" Government Bonds. The net profit after taxation
for the past 4 years were : Rs. 3,92,500, Rs. 4,22,500, Rs. 4,25,000 and

Rs.4,30,000 respectively. Normal rate of return on average capital employed

is 2C,/". Calculate goodwill at 3 years purchase of super profits.

10. Compute the value-of shares by :

i) Net asset method.

ii) Yield method from the following assets and liabilities of a limited company
as on 31-12-2022.

Amount Assets

(Rs.)

Goodwill

4,00,000 Fixed assets

50,000 Current assets

25,000

50;000

1,50,000

50,000

7,25,000
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11. From the following trial balance prepare Final Accounts of Nischal trading
company for the accounting period ending on 31.rMarch 2022.

Particulars

Sales

General reserve

Opening inventories

Trade payable

Purchase of goods

Depreciation on tangible assets

Trade receivables

Salary expenses

Provision for Bad and Doubtful debts

Cash and cash equivalents

Tangible assets

Freight

Amortizations on tangible assets

Sundry expenses

Share capital (Eqqity shares of 100 each)

Profit and Loss A/c

Preliminary expenses

Power and Fuel

Bad debts

lntangible assdts

Total

Adjustments , '

i) Closing inventories Rs. 14,440.

ii) Create provision for taxation at 30%.

iii) Write-off 1/Sthof preliminary expenses.

iv) Write-off Rs. 1,250 as bad debts and maintain PBDD @ 10"/o ondebtors.

v) Directors proposed dividend of 1S%.

Dr. Cr.

(Rs.) (Rs.)

3,27,OOO

6,000

29,200

12,945

1,16,040

7,750

42,500

49,235

2,500

17,750

77,500

24,440

9,250

21,430

1,25,000

3,500

10,000

27 Joa

1,750

43,000

4,76,945 4,76,945
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1. dn$de 6 erud-{,dorleri erudoxr. {,0 etud-dd.,f" 2 eodilg$dd. (6x2=12)

a) olndenCdo add: oego$ dedr uodao$ddl.39&.

b) pnd: aedrrood aodded: z

c) {ar6ed {d:d$ efirddq &ea.

d) segr dPe.:rd abeeJ dryo* zl€drd C>doadd" m*u uodrl$dl weJ-ea)tu.

e) ergroard oiDdCe add: {g*dd$d1 ee&.

f) de&ri$ dPe:rd>idd urldrtaoA C>dde 2 Bodtfr,l$q wd-ea)tu.

g) aadoof rl$ d$e-rrdQ prd; ded dod;&aoil)g€O ?

h) dcil&rl$ draa$ i[do$e_"md8tud d::orld dori"oJ:d1&ed derl dorledxb8eO ?

A^--) ^acnrCpdll - Q

o3ndoaddra dlra& {,d*derl erudOxl. d,.9 €,d*do 4 eroddedJdd. (3x4=12)

2. do, Oaru3cr dddr 1,00,000 €rtai ded:zt$d1 den do. 10ri addd d>aood.
#'*eXaieaod do. 5d1 erdron dradol>O-ilq doddoJ: dradoi>qs drD. d#q

OO o(

ddaogd. ae4ded:rl$ z3ooaeiadoahoaod d:8 d"gdq ioolroR ts*edodeDnd.

ab ee)d$rl$ er odrt$d:o erdo& zsdref dilro& rl9d1 O ea.

3. r.ocb dodCIo3> {,e fieori 100 d dJEord 1 ,00,000 ded:il$dlo &ead;. ded.>d$d1

6r d$Rdod udo$enfld : X : 30,000 ded:rl$;, Y : 50,000 ded:rl$c. ;odras&dd)

70,000 ded:rlerl erdr Be)#d&.X, Y drQ dod&od: dodrrooEo$de &dro*.

4. ds3d 5 ddrrl9O_dod&o3: e{S enqJrlqb 2017-18 dro. 80,000, 2018-19 dra. 90,000,

2019-20 dto. 94,000,2020-21, dro. 80,000 drd: 2021 -22d$.96,000. drdaaddO-

doadolnndrd rSodaa$d drd. 8,00,000 und:ol erdd a3:eeJ Bd;oasBil"dei6Do$d

dd 10% Ooesienfld. uodaageddead erGod:O_ dod&o$ doodO errd eq5DddO-

8e8rdPe.:rddtr eJdoaa8. i

5. iloolro $eaori'Eo.
€r d$Ddo8d :

zmCrdrl$c

OtuEJcfd uoJ:droJ: dqoJ, Ooaod : 31-03-2022 dO

(dJa.)

1000, 6% udrdo$ 4e 10,000 d%drlsb

dJog

(dJo.)

27,500

32,500deorl dJa. 10 o3:odgedddearl$:
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4000 dt%oi decbrl$c

{,8 deori dJo. 10

tueder: &e

eDqJ abQ d{d and

Aed xoOrld>

-6-

deoSoe,trrl$:

40,000 ead xae.:nodd:

25,000 edd 4,ald {&rl$r
9,000

32,000

1,15,000

IflilItil ]iltil ililI]il ililtilt

5,000

20,000

30,000

1,15,000
1) o3:odgedddeafi$ soodt dra. 2,500 ddD da$dEnd abe d%dd sde;, 6s,000 drd.

d;$ 3e.9r tFord dra. 10,000 esAd.

2) dro. 3,000 msrls: dtJd.

3) 4,d{d ded:rl$o zoodans and8ri udrdo$$o doood.
d:_ee)ddrl$ eoddgdl etfio&, addo oegcl: decbrlg egodod dPerdCi duo;.nd
c^UdC.g.

6. Eod.!rl$ draaald i$c)O t dsnd eculodsdl oJDd r;dsdrl$ (searE) eao$o_
ced doeoi.:Beo. 

eJ 'n

a) dorlnan.).:eier:

b) ercd:aad>

c) d,deCreJ$d de-ri

d) aadeizJeaad aefrlgc
e) xiae-td$rl9o.

Dqail - x

olndmddro $ro& d,d"rrleri erudoir. d,.g d,,d*o3r: 12 eoddsd: d,.ooadrgd. (3x12=36)

7. s[odd $eaorr dod& Otua,Scsodd& dro. 2,00,000 doeoaaou:d uoda;ogdooori
10,000 *6"8"3 dedcrlsdco adrdd doBd. {,e deori do. 10. erdrod: d;ee]
dro. 3 uod9daJedc, doz3do$el dro. 2, dodo ddrl dro. 3 ild> drd. 2 eeogd) ddri
and8dsieaaAd. dode.r ddo$ 1,b00 ded:rrsd1 u$e ero8il dd"o$ 2,000 ded:rlgd:,

*d3??i -4" ded:rtec r,so6DeDo;; J5{-*rrq ,oolDR -*-##r^}:
#eOddrle uodrf9d:o ufroxr egdref dilodrl*"aro O*a.

&sDef Otua^3cr xadras&dood 10 dro. i'lsj 2,50,000 ded:rlerl erdrrlg&4 er6DjD,xd.
Bo{Bear Boa3do$dloaboadood udo$enfld. A, B, C dbe D 3oo/o,'zs"to,2solo,
20"/" 7\q dodrooEo$dldooooad ilq qabaah g,000 decb"rlgb, 12,ooo ded:rleb,
Oef ded:r1*), 3o,oo0 di&rlsb o6er afucnoo ando do#rroodo$$ dooooad.
erodddru,3onr rd,odd adJaDdorl arrdo d.odroodoJ: euoddrr$ri qaerfu
&edennd. dodeoJj: 1 ,80,000 decbderi cdrrlgdtr 

ledoxrd ando do#naodo$di
droddrdaxr, r$d>d: dndend erdrilgdl rbd;gBennd. $ilaan

B.
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A - 48,000 ded:rl$c
B - 40,000 ied:rl$r
C - 24,000 ded:rl$:
D - 48,000 ded:riSod: rbd;EBenfld.
.)d>oedd e*9 drodnodo$dtr doeoxbd do4o$q doJDo:r.

9. dS Otua^i66d uo$dro3: d%oJ, Ooaod 31-3-2022 de)-& E$jndogd.

a+i Jio'i.(*Jcrl-J {2I lYv

J^J- ^.^J--Jsa(L\j (JU(€cJdY

' \.ir.\ {rlr *oJr{R;rv { 
^J 

\J.J C^Ir\:\J (l,J G.}.-/ C^J\J
^ 

.J

-or-iir^J9\-,l lUL/\-\J

drDg Bd:rl$c
J crlJ

(dJo.)

15.00.000 xld ertu
OJ

3,75,000 6lgd er,turl$J

6,25,000 droadd$)

25,00,000
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dJaq'

(dJo.)

25,000

5,00,000

2,00,000

-7-

dJaq

(dra.)

10,00,000

12,50,000

2,50,000

25,00,000

droadd$jc 8% dacro srooarilqDRd. bood 4 ddril$ dorio$ doddd e{9 enqJ

$draan dro. 3,92,500, dro. 4,22,500, d!a. 4,25,000 d:d: 4,30,000 dJo. rl$)

snd:dd. doad uodanSd ioaio errdd xadnd, dddod 20Y" qrnd. 3 ddrrl$
irad d ero qJ a) o e A o$ a Oa d d O_ 6 e I r dJE o, dQ d{-- 8 .

10. tuetud dod&o3c d* d$nd *Qde, drdl dodnaoditeod 31-12-2022 dod dedcrl$

#errddl* add: a@dil90_eJaa;md alnB :

i) 0*9 erx, aed.
ii) eqrAo ee?d.

?rodddd$b

40,000 de&rl$c

den do. 10

tuede,rr 0Q *1

dabsjdo

5% sae,:dgd$)

:oorrodd:

dorirron &:eiel
7,25,000

31-12-2022 doo'c Ed d*dgrfgd,:o do. 6,00,000 a'cdg Se8rdcEe.rrddco

dra. 37,500 rt$od: dPOredOdenhd. drodo$ ilo& ddrri$: e{9 en$ dro. 37,500,

dro. 39,000 ilQ dro. 43,500 snd: eddO_2O% ud:o uoou:oodenog:6. er6"o$d
dd 10% sfld.

drag n$d$r
J cdJ

(dro.)

SeBrdPe.:,

4.00.000 &d erR)
a3

50,000 64d er&rl$r

25,000

50,000

1,50,000

50,000

7,25,040
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1 1 . d$nd aoddaio$ zo8ogrod edsf $,eaori'dod&od:31 dnatrr 2022 dod: drodrira$bdqj Z.J )---- - 
V

eJd,dg udQrl coga$ eJEdif$dtr dolDo&.

addil$b d6os6 g6$t

dno-ooo t*'] 
,,r;Hl

;odnd, A)eder: 6,000

agdoqJd eroed: 29,200

aarmd dooaoi:rl$r 12,945

dd$rl$ aDoeO 1 ,1 6,040

B{and *Qdq &eOd Bdde T,Tso

aaraadd leromdrri$: 42,SOO

BouS dr,idqr 4g,2gs
AJ

d%Arq iodolndd;oe.:i1eri A)erw 2,SOO

dilc$ drQ drlc$ ,dDd 1TJSO

{drd *Qrlst, 7T,1OO

dd& xarld 24,440

B{and *Qne abeod qloe{ 9,2s0

uriurlo$ d?"*if9r 21,430

dedr uodaa$ ({,e t 00 d{Ed0^3 deddsic) 1,25,000

{pdrpa d4rlS 10,000

dg d:Q eodd 27,1oo
dgnoelrlgc 1,TSO

duorged *Q,tg. 43,000

LS., (1 4rT6,945 41761945

dL$?ddo dDEo.9

i) drodo$ erDe$ dro. 1 4,440.'

ii) 30% do_doriri tueredl dzsx).

iii) {pdrqDa datrl$d} 1/5de qrart dadKrae&.

iv) do. 1,250 dgxaorl9d1 dadriJog& dr$ noe.:rrodd d:ee3 &ulaa @ fi% eldl
6-J-O 6
NcJh ooXJ.

v) &derdd& 1 5% dd* enqnodds. 6og.bxioaod.


